1.experiment

Slunecnice 1 5.871 3.987
Helianthus anuus 2 5.871 4.236
3 5.871 4.304
2.experiment
NO;.
E1 [mV] E2 [mV] [c1 [mmol.l'"] [c2 [mmol.I"]

Slunecnice 1 218.8 221.8
Helianthus anuus 2 218.8 219.6

3 218.8 220.6
Cas zaloZeni: 18/03/2015 16:55:00 ¢as ukonceni:
{ jedn. Kalibrace
(mM) roztok KNO3 0.075 0.15 0.3 0.6
mV mereni 298 283.5 265.9 248



pH2

5.197
5.508
4.318

Doba inkubace Vp m NO3-

t celkem (h) [umol. g™ h™] [ug]

19/03/15 08:55

0.9 1.2 15 1.8 2.1 2.4 2.7 3
237.4 2299 2242 219.8 215.8 211.8 208.7 204.5 mV



